



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Mass Communication) 7th Semester, Morning, Session Autumn 2025

Registration #	Name	ENG 330					GEN-121					GEN-232					ISH 430					MAC 501					MC-352				
		English II					Ideology & Constitution of Pakistan					Urdu (Compulsory)					Islamic History					News Gathering and Reporting					Conflict Reporting				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S (MC) Aut-2022-M-0001	Aasma Kousar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0002	Abdul Wahab Aslam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0003	Afifa Naheed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0004	Ahmad Mukhtiar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0006	Anfal Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0007	Areeba Pervaiz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0008	Ayesha Aftab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0011	Furqan Mustafa Minhas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0012	Hafsa Aziz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0014	Hasnain Ali Ahmed Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0015	Hassan Mehmood	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0016	Hira Tariq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0017	Hira Zaidi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0018	Irtaza Nasir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0019	Jawad Ahmed Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0020	Khizer Taj	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0022	Malik Mobeen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0023	Mehran Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0024	Mourij Javed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0025	Mudassar Abdul Wahab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0027	Muhammad Asif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0030	Muhammad Hamza Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0031	Muhammad Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0034	Muhammad Waqas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0035	Nayab Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0036	Noor Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0037	Rizwan Jehangir (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0039	Saqlain Naeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0040	Sehrish	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Mass Communication) 7th Semester, Morning, Session Autumn 2025

		MC611					MC621					MC631					MC641					MC642					STA 430				
		Photography in Mass Communication					Media laws and Ethics					Research in Mass Communication-II					Green Journalism					Social Media Content Creation					Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S (MC) Aut-2022-M-0001	Aasma Kousar	80	A	4.0	3	12.0	78	B+	3.5	3	10.5	82	A	4.0	3	12.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0002	Abdul Wahab Aslam	80	A	4.0	3	12.0	81	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0003	Affia Naheed	65	C+	2.5	3	7.5	63	C	2.0	3	6.0	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	
B.S (MC) Aut-2022-M-0004	Ahmad Mukhtiar	76	B+	3.5	3	10.5	61	C	2.0	3	6.0	67	C+	2.5	3	7.5	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	
B.S (MC) Aut-2022-M-0006	Anfal Fatima	80	A	4.0	3	12.0	78	B+	3.5	3	10.5	85	A	4.0	3	12.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0007	Areeba Pervaiz	73	B	3.0	3	9.0	58	C	2.0	3	6.0	62	C	2.0	3	6.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0008	Ayesha Aftab	73	B	3.0	3	9.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0011	Furqan Mustafa Minhas	78	B+	3.5	3	10.5	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0012	Hafsa Aziz	76	B+	3.5	3	10.5	77	B+	3.5	3	10.5	67	C+	2.5	3	7.5	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0014	Hasnain Ali Ahmed Abbasi	71	B	3.0	3	9.0	25	F	-	3	-	68	C+	2.5	3	7.5	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0015	Hassan Mehmood	77	B+	3.5	3	10.5	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0016	Hira Tariq	80	A	4.0	3	12.0	73	B	3.0	3	9.0	75	B+	3.5	3	10.5	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	
B.S (MC) Aut-2022-M-0017	Hira Zaidi	83	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0018	Irtaza Nasir	70	B	3.0	3	9.0	61	C	2.0	3	6.0	60	C	2.0	3	6.0	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	
B.S (MC) Aut-2022-M-0019	Jawad Ahmed Abbasi	83	A	4.0	3	12.0	82	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0020	Khizer Taj	75	B+	3.5	3	10.5	35	F	-	3	-	54	D	1.5	3	4.5	80	A	4.0	3	12.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0022	Malik Mobeen	72	B	3.0	3	9.0	71	B	3.0	3	9.0	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0023	Mehran Ali	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	73	B	3.0	3	9.0	70	B	3.0	3	9.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0024	Mourij Javed	80	A	4.0	3	12.0	71	B	3.0	3	9.0	72	B	3.0	3	9.0	70	B	3.0	3	9.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0025	Mudassar Abdul Wahab	58	C	2.0	3	6.0	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0027	Muhammad Asif	83	A	4.0	3	12.0	80	A	4.0	3	12.0	83	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0030	Muhammad Hamza Saleem	75	B+	3.5	3	10.5	67	C+	2.5	3	7.5	71	B	3.0	3	9.0	80	A	4.0	3	12.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0031	Muhammad Hassan	62	C	2.0	3	6.0	53	D	1.5	3	4.5	50	D	1.5	3	4.5	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0034	Muhammad Waqas	80	A	4.0	3	12.0	80	A	4.0	3	12.0	81	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0035	Nayab Fatima	80	A	4.0	3	12.0	80	A	4.0	3	12.0	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0036	Noor Bibi	82	A	4.0	3	12.0	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0037	Rizwan Jehangir (Withheld due to F)																														
B.S (MC) Aut-2022-M-0039	Saqlain Naeem	90	A	4.0	3	12.0	86	A	4.0	3	12.0	86	A	4.0	3	12.0	85	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0040	Sehrish	70	B	3.0	3	9.0	70	B	3.0	3	9.0	71	B	3.0	3	9.0	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Mass Communication) 7th Semester, Morning, Session Autumn 2025**

Registration #	Name	ENG 330					GEN-121					GEN-232					ISH 430					MAC 501					MC-352				
		English II					Ideology & Constitution of Pakistan					Urdu (Compulsory)					Islamic History					News Gathering and Reporting					Conflict Reporting				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S (MC) Aut-2022-M-0041	Sohaib Jahangir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0043	Syeda Hadia Jaffri	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0044	Syeda Mahnoor Naqvi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0045	Syeda Sakina Hussain Rizvi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0046	Umair Razzaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0047	Umme Rubab	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0048	Waseem Akram	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0049	Zain-UI-Abideen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-2022-M-0051	Zakir Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) Aut-21-M-0007	Ejaz Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S (MC) SP-2022-M-0021	Zaryab Bin Tahir (4 Courses Deffic	71	B	3.0	3	9.0	70	B	3.0	2	6.0	70	B	3.0	3	9.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Mass Communication) 7th Semester, Morning, Session Autumn 2025**

		MC611					MC621					MC631					MC641					MC642					STA 430				
		Photography in Mass Communication					Media laws and Ethics					Research in Mass Communication-II					Green Journalism					Social Media Content Creation					Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S (MC) Aut-2022-M-0041	Sohaib Jahangir	70	B	3.0	3	9.0	70	B	3.0	3	9.0	60	C	2.0	3	6.0	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0043	Syeda Hadia Jaffri	77	B+	3.5	3	10.5	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	85	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0044	Syeda Mahnoor Naqvi	81	A	4.0	3	12.0	77	B+	3.5	3	10.5	80	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0045	Syeda Sakina Hussain Rizvi	75	B+	3.5	3	10.5	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0046	Umair Razzaq	73	B	3.0	3	9.0	65	C+	2.5	3	7.5	77	B+	3.5	3	10.5	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0047	Umme Rubab	71	B	3.0	3	9.0	80	A	4.0	3	12.0	83	A	4.0	3	12.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	
B.S (MC) Aut-2022-M-0048	Waseem Akram	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-	
B.S (MC) Aut-2022-M-0049	Zain-UI-Abideen	75	B+	3.5	3	10.5	72	B	3.0	3	9.0	66	C+	2.5	3	7.5	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-2022-M-0051	Zakir Hussain	78	B+	3.5	3	10.5	80	A	4.0	3	12.0	78	B+	3.5	3	10.5	85	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	
B.S (MC) Aut-21-M-0007	Ejaz Ahmed	73	B	3.0	3	9.0	-	-	-	-	-	83	A	4.0	3	12.0	60	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	
B.S (MC) SP-2022-M-0021	Zaryab Bin Tahir (4 Courses Deffic	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**

Controller of Exams

Result declaration date: 23/02/2026